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8.2B Lecture Notes, Ellipses

Write an equation in standard form for each ellipse.

a) Fociat (%3,0); endpoints of major axis (+5,0)
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b) Foci at (0,+4) ; endpoints of major axis (0,+7)
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d) Endpoints of major axis at (+4,0) ; Endpoints of minor axis at (0,3)
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e) The endpoints of one axis are (-2,-3)and (-2,7) and of the other are (-4,2)and (0,2)
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f) The major axis endpoints are (-5,2)and (3 2) ; the minor axis is length 6,
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g) State the location of the center, the length of the semi-major and semi-minor axis, and write in
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h) State the location of the center, the length of the semi-major and semi-minor axis, and write in

parametric form: (X;62)2 +(y;-21)2 =1. C (z) - ') : A= 4) b: ﬁ-—
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i) Put the equation. 3x* +5y* —12x+ 30y + 42 =0 in to standard form.
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j) Put the equation. 4x* + y* —32x+16y dard form. (-— I ?,% )
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